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Physics 303K: Midterm 1 Corrections

We. know tnas e Folowsing omits ave
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This is also avother of +ne. set op covrect answer as both unifs
of both Cbr‘MsPomJ correctiy.

Csas denk of 41 Sieg (mess)

|y./ Uz w- (- b, the tdome of 4he gas fank
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We know ot e +oral distance 1s everytin From stark o Pony

C toend of tne arrow of Path C.tn addition, we Rmow Hhat distance 1
& Scalar quantity as it is the wagpitude;wo direction.

What 18 Swe wagitode & Aisplace meny Prom start +o fiwsn, in Westers, PM‘ potin c?
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A Q‘*‘two"\( ne\\ as o constrawt accelerodion Provn vest to o velooity of Ol wls owr & Astance of 4.5 m.

Row \‘"‘ﬁ' mseeonds, oS the accalercction last? [P«vf A]
Ca\culod'e. the accelerarion, in meters per second Squaved [ﬁ\ﬂ‘ B]

A We kvow Hae Shell has twe Follo wing:

—\Jerocity of Glwls [@-m\l
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Part B, \ets in;! oce t\eration (—’(»;4—; as 4 will be trwval W Q;na‘ws
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We know “hat we owe given velooity Cina\ and Witials and ne
Alstance. Theretore we use

’\JE’ = 'Ui.L + o A
To loow for accelerorion, fhus we solve Sﬁmbdico.\\y ?or oceel.
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Fort B: Which graph has only negative slope?
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Is: o . . : y w —» @ =
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Now 4o Solve Muwrvically
we. rove e and V 4o selve for
T 0.014omls*

=T

whiew (S % for me.

=|T. 2034 om

.A bolet 18 ot horaontally over leve] ground. The inifiol WRight is L33 w amd
1¥S Witiol Speed is 20%-ws.

[?a\M- A-X How mucw time, n secon ds, elagses before the boullet Wits the around?

(Pm-* E}\"ow?m‘ does the bullet travel Worizontally, in meters, \)e_(\-m\n'\#ﬁng the

VOW\A?
6 [Pt A7 We. knowo 4mack we. ave oen the, ﬂo\\owim%/:
- 'V;x('“\iﬁa\ Vorz) is 200 w5 and U; =0 wls [vertica) velocity itial]
~eo = Our wivia) “"“’.SH I) is 183 wmerers
N — Awd 00 accRleradion is 9.8 =4 Sce e bollet 1s '\‘W\\R-\“VS
W=1%3| ! N,

Woniaonsully leel o the ground
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,;'LO&‘MlS
Nl
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0= M‘w“' * ‘7.‘5*1— Y
Givon 4Ane Strocture ond ond terms

of “ne equation ot s given; looks
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WWewm 18 Sowwwhat sivilar and s vlated 1o
XY = Xy + Vgt +oe
Parct B
We know that -+ ger tne distunce Haot Yhe
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Now et we. have. ovr equation for fime; KR Can vow
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Lot = L8 wetes —oi\l 0+2(a.8\)(1-3) _ 0. 6\ 0% sec.
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In Gor Case, We wont e positive
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